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PHYS 1169 Test 2, 2004
Question 1(19 marks)

a i) A sinusoidal wave travelling along a stretched string in the positive x direction has
speed v, frequency f and amplitude A. Write an equation for such a wave, in terms of
these quantities.

i)  For the wave in part (i), derive an expression for the velocity of a particle at x =0 as a
function of time.

i)  For the wave in part (i), derive an expression for the slope of the string at x =0, as a
function of time.

b) A steel guitar string has a diameter of 0.33 mm, a vibrating length of 650 mm and a
density of 5,600 kg.rs.
i)  Calculate the tension required to tune it so that its fundamental frequency of vibration
is 330 Hz.
ii)  State two of the other frequencies at which the string can vibrate easily, and illustrate
the corresponding modes of vibration with a sketch.

Question 2(11 marks)
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a) A grinding machine is placed on the ground. Its sound output is P = 11 W and it radiates
isotropically. The ground may be considered as a perfect reflector of sound. Two people are
standing at distances of 5 m from the machine. Person A is standing on clear ground, person B is
standing very close to a brick wall.
i)  Showing your working, estimate the sound level to which A is exposed. (Reference level
1 pW.m?3)
i)  What is the sound level to which B is exposed? Explain your answer.
i)  Person B has hearing protectors that are rated at 26 dB insulation. Calculate the factor by
which these protectors reduce the sound pressure?
iv)  Which would be louder: sound with intensity 1 mW2nmat 50 Hz or sound with intensity

1 mW.m?2 at 1 kHz? Explain your answer in one sentence.

b) The speed of sound in water is faster than the speed of sound in air. In one or two
sentences, and with one equation, explain why this is so.

Question 3(15 marks)

a) Two radio antennae, separated by distance d, radiate
the same signal, with the wavelengthl<<d) and
same power P. They are in phase. At a distance r
P_|_ away (r >>d), the intensity | is measured as a
d 6 Q function ofe.
Pt '

) Sketch the dependence of the measured intensity as a functioireol ).

i) At what value ofe does the first minimum occur?

i)  When one of the antennae is turned off, what is the change in the value of the intensity
| at the point Q (i.e. a = 0)? Explain how you reached your answer.

b) 1)  Withthe aid of a diagram, explain how an anti-reflective coating on a lens works.
i)  Estimate the thickness of the coating if the coating material has a refractive index of
1.4 and the antireflective property is optimised for light of wavelengt®50 nm in
air.



Question 4 (10 marks)

a) The figure shows a low expansion mounting,
> L designed so that the distance x has minimal change
| —X [ -2 with temperature. The inner and outer shafts are made
of materials with linear thermal expansivity
coefficientsa1 anday, respectively.

Derive an equation that relates the two lengthard
I< Lo to the coefficients1 andano.
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b) Using the equation of state for an ideal gas, derive an expression for the pehsityideal
gas in terms of the pressure P, temperature T, molecular mass m and constants.

Question 5(17 marks)

a) A bolt has a diameter of 6.0 mm and is made of steel, for which the Young's modulus is = 206
GPa. Its thread has 12 turns per cm. It is passed through a hole drilled at right angles through
two large, prism shaped metal components. The hole is 120 mm long. A nut is put on the bolt
and turned until all of the components just make contact, with minimal force, as shown in the
sketch. The nut is then tightened one half turn. Determine the normal force exerted between the
two components as the result of tightening this one nut and bolt. (Neglect deformation of the
bolt head, the nut, or the prism shaped objects.)

b) The attractive and repulsive forces between atoms and molecules are in general rather
complicated functions of the inter-atomic or inter-molecular spacing. Nevertheless, Hooke's
law of elasticity works well for many such materials.

i)  What limitation on the strain is necessary for Hooke's law to be true?

ii)  Subject to this limitation, anavith the aid of a clearly labelled sketclexplain
briefly how Hooke's law arises.

Question 6 (8 marks)
i)  Why does a crack propagate under tensile strength? (A sentence or two and a sketch.)

i) A prism shaped block, length L, and square cross section with side w, is loaded on the square
faces with a compressive force F. In terms of the geometry and that elastic constants of the
material, derive an expression for the pressure P that must be applied on the rectangular sides of
the material so that the area of the square cross section is unchanged when the load F and the
pressure P on the four sides are applied simultaneously.
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